34896_cam_tmplt 1/8/08 9:04 AM Page 1 $

& 8& 12BIN 8 & 12 BIN 8 & 12 BIN 8& 12BIN &

41/2" ! 7" ! 41/2"
(11,4 cm) (17,8 cm) (11,4 cm)

16"

(40,6 cm)

WALL MOUNTING CONTENTS INCLUDE: ELCONTENIDO PARA DE MONTAJE EN LA PARED INCLUYE: CONTENU DU KIT DE MONTAGE MURAL:

1 each Versa Line Organizer Rack 1 anaquel organizador de la linea Versa 1 unité de rangement Versa Line

6 or 9 Organizer Bins 6 6 9 recipientes organizadores 6 ou 9 casiers de rangement

8 each 1 1/4" (3,2 cm) screws 8 tornillos de 1 1/4" (3,2 cm) 8vis11/4" (3,2 cm)

8 each wall mounting anchors 8 anclajes para montaje en la pared 8 chevilles pour montage mural

1 each wall mounting template and instructions 1 plantilla e instrucciones para el montaje en la pared 1 gabarit pour montage mural avec instructions

& 8BIN & 8BIN & 8BIN

& 12BIN & 12BIN & 12BIN

Telephone (714) 848-1555 FAX (714) 842-3430 Teléfono (714) 848-1555 FAX (714) 843-2630 Téléphone (714) 848-1555

MANUFACTURING COMPANY
www.cambro.com

71/2"
(19,1 cm)

12 1/4"
(31,1 cm)

8 BIN &

12BING——

Location: 7601 Clay Ave., Huntington Beach, CA 92648 Direccidn: 7601 Clay Ave., Huntington Beach, CA 92648 Location: 7601 Clay Ave., Huntington Beach, CA 92648
P.0. Box 2000, Huntington Beach, CA 92647-2000 P.0. Box 2000, Huntington Beach, CA 92647-2000 P.0. Box 2000, Huntington Beach, CA 92647-2000

FAX (714) 843-2630

#79549

Wall Mounting Instructions

1) Determine location on wall to hang rack. When possible,
use wall studs to anchor screws. These should be 12"-16"
(30,5 cm - 40,6 cm) apart.

2) Line up template evenly on wall. Tape in place. Use
template to mark holes for screws.

3) Mark through center of each hole with a pencil and
remove template from wall.

4) Drill 1/4" (0,6 cm) diameter hole for each mark and insert
anchor. Tap in anchor flush to wall surface.

5) Place screw into wall stud or anchor and tighten. Leave
bottom screws 1/4" (0,6 cm) out from wall or anchor and
top screws 3/16" (0,5 cm) out from wall or anchor.

6) Hang rack by first aligning top screws into back t-slot
openings on rack. Push rack up and towards the wall to
engage top screws into slots. Pull rack down so bottom
slots are resting securely on bottom screws. Tighten bottom
screws and place organizer bins on rack.

Instrucciones para el montaje en la pared

1) Determine el lugar en la pared en el que va a colocar
el anaquel. Cuando sea posible, utilice espigas para anclar
los tornillos. La separacidn entre éstos debe ser de
12" a 16" (30,5 cm a 40,6 cm).

2) Alinee la planilla en forma pareja sobre la pared. Péguela
con cinta adhesiva. Use la plantilla para marcar los
agujeros para los tornillos.

3) Con un lapiz, marque el centro de cada agujero y después
quite la plantilla de la pared.

4) Taladre un agujero con un diametro de 1/4" (0,6 cm) por
cada marca e inserte el anclaje. Golpee ligeramente cada
anclaje hasta que quede al ras de la pared.

5) Coloque los tornillos en las espigas de la pared o en
los anclajes y apriételos. Deje que los tornillos de abajo
sobresalgan 1/4" (0,6 cm) de la pared o anclaje y que los
tornillos de arriba sobresalgan 3/16" (0,5 cm) de la pared
0 anclaje.

6) Cuelgue el anaquel alineando primero los tornillos de arriba
dentro de las ranuras en «T» que estan en la parte trasera
del anaquel. Empuje el anaquel hacia arriba y hacia la
pared para que los tornillos de arriba entren en las ranuras.
Tire del anaquel hacia abajo de tal manera que las ranuras
inferiores entren y descansen en forma segura sobre los
tornillos de abajo. Apriete los tornillos de abajo y coloque
los recipientes organizadores en el anaquel.

Instructions de montage mural

1) Choisissez un emplacement sur le mur. Si possible, posez
les vis dans les montants de charpente. Ceux-ci sont
normalement espacés de 12" a 16" (30,5 a 40,6 cm).

2) Posez le gabarit a plat sur le mur et fixez-le avec du ruban
adhésif. Marquez les trous de montage.

3) Marquez le centre de chaque trou avec un crayon et
détachez le gabarit du mur.

4) Percez un trou de 1/4" (0,6 cm) de diametre a chaque
emplacement marqué et insérez une cheville. Affleurez la
cheville et la surface du mur.

5) Posez les vis dans le montant de charpente ou la cheville
et serrez-les en les laissant dépasser de 1/4" (0,6 cm) (vis
du bas) ou de 3/16" (0,5 cm) (vis du haut).

6) Accrochez I'unité de rangement en alignant les vis du
haut dans ses orifices arriere en T. Poussez I'unité de
rangement vers le haut et vers le mur pour que les vis
pénétrent dans ces orifices. Abaissez I'unité de maniére a
ce que les fentes du bas reposent fermement sur les vis
inférieures. Serrez les vis du bas et placez les casiers sur
I"'unité de rangement.

e




34896_cam_tmplt 1/8/08 9:04 AM Page 2

& 6 &9BIN

6 & 9 BIN

6 &9BIN &

(20,3 cm)

(20,3 cm)

16"

WALL MOUNTING CONTENTS INCLUDE:

1 each Versa Line Organizer Rack

6 or 9 Organizer Bins

6 each 1 1/4" (3,2 cm) screws (plus 2 extra)

8 each wall mounting anchors

1 each wall mounting template and instructions

& 6BIN

& 9BIN

MANUFACTURING COMPANY
www.cambro.com

Location: 7601 Clay Ave., Huntington Beach, CA 92648
P.0. Box 2000, Huntington Beach, CA 92647-2000

Telephone (714) 848-1555 FAX (714) 842-3430

(40,6 cm)

ELCONTENIDO PARA DE MONTAJE EN LA PARED INCLUYE:

1 anaquel organizador de la linea Versa

6 6 9 recipientes organizadores

6 tornillos de 1 1/4" (3,2 cm) (mas dos extras)

8 anclajes para montaje en la pared

1 plantilla e instrucciones para el montaje en la pared

& 6 BIN

& 9BIN

Direccidn: 7601 Clay Ave., Huntington Beach, CA 92648
P.0. Box 2000, Huntington Beach, CA 92647-2000
Teléfono (714) 848-1555 FAX (714) 843-2630

CONTENU DU KIT DE MONTAGE MURAL:

1 unité de rangement Versa Line

6 ou 9 casiers de rangement

6 vis 1 1/4" (3,2 cm) (plus 2 vis supplémentaires)
8 chevilles pour montage mural

1 gabarit pour montage mural avec instructions

71/2"
(19,1 cm)

12 1/4"
(31,1 cm)

6BIN G —

9BING—

Location: 7601 Clay Ave., Huntington Beach, CA 92648
P.0. Box 2000, Huntington Beach, CA 92647-2000
Téléphone (714) 848-1555 FAX (714) 843-2630

#79549

Wall Mounting Instructions

1) Determine location on wall to hang rack. When possible,
use wall studs to anchor screws. These should be 12"-16"
(30,5 cm - 40,6 cm) apart.

2) Line up template evenly on wall. Tape in place. Use
template to mark holes for screws.

3) Mark through center of each hole with a pencil and
remove template from wall.

4) Drill 1/4" (0,6 cm) diameter hole for each mark and insert
anchor. Tap in anchor flush to wall surface.

5) Place screw into wall stud or anchor and tighten. Leave
bottom screws 1/4" (0,6 cm) out from wall or anchor and
top screws 3/16" (0,5 cm) out from wall or anchor.

6) Hang rack by first aligning top screws into back t-slot
openings on rack. Push rack up and towards the wall to
engage top screws into slots. Pull rack down so bottom
slots are resting securely on bottom screws. Tighten bottom
screws and place organizer bins on rack.

Instrucciones para el montaje en la pared

1) Determine el lugar en la pared en el que va a colocar
el anaquel. Cuando sea posible, utilice espigas para anclar
los tornillos. La separacidn entre éstos debe ser de
12" a 16" (30,5 cm a 40,6 cm).

2) Alinee la planilla en forma pareja sobre la pared. Péguela
con cinta adhesiva. Use la plantilla para marcar los
agujeros para los tornillos.

3) Con un lapiz, marque el centro de cada agujero y después
quite la plantilla de la pared.

4) Taladre un agujero con un diametro de 1/4" (0,6 cm) por
cada marca e inserte el anclaje. Golpee ligeramente cada
anclaje hasta que quede al ras de la pared.

5) Coloque los tornillos en las espigas de la pared o en
los anclajes y apriételos. Deje que los tornillos de abajo
sobresalgan 1/4" (0,6 cm) de la pared o anclaje y que los
tornillos de arriba sobresalgan 3/16" (0,5 cm) de la pared
0 anclaje.

6) Cuelgue el anaquel alineando primero los tornillos de arriba
dentro de las ranuras en «T» que estan en la parte trasera
del anaquel. Empuje el anaquel hacia arriba y hacia la
pared para que los tornillos de arriba entren en las ranuras.
Tire del anaquel hacia abajo de tal manera que las ranuras
inferiores entren y descansen en forma segura sobre los
tornillos de abajo. Apriete los tornillos de abajo y coloque
los recipientes organizadores en el anaquel.

Instructions de montage mural

1) Choisissez un emplacement sur le mur. Si possible, posez
les vis dans les montants de charpente. Ceux-ci sont
normalement espacés de 12" a 16" (30,5 a 40,6 cm).

2) Posez le gabarit a plat sur le mur et fixez-le avec du ruban
adhésif. Marquez les trous de montage.

3) Marquez le centre de chaque trou avec un crayon et
détachez le gabarit du mur.

4) Percez un trou de 1/4" (0,6 cm) de diametre a chaque
emplacement marqué et insérez une cheville. Affleurez la
cheville et la surface du mur.

5) Posez les vis dans le montant de charpente ou la cheville
et serrez-les en les laissant dépasser de 1/4" (0,6 cm) (vis
du bas) ou de 3/16" (0,5 cm) (vis du haut).

6) Accrochez I'unité de rangement en alignant les vis du
haut dans ses orifices arriere en T. Poussez I'unité de
rangement vers le haut et vers le mur pour que les vis
pénétrent dans ces orifices. Abaissez I'unité de maniére a
ce que les fentes du bas reposent fermement sur les vis
inférieures. Serrez les vis du bas et placez les casiers sur
I"'unité de rangement.

e





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


